20254F 4H 118 (&)

TUAE— BRI R (P ER)

—E

— ' TR DA R L R EL

MR 4 TR L NIN=T DI =A0F RTRT4
AL AAR—T
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
TR
=f 224.00/358/6.00.9| 4 [22]0.9/1.3| 0 | 0.45 004 0 | 0.0 | 0.4
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
A APISAVEY SN 5
INIR— 77| 80.00/170|9.6|10.7| 248 |128/6.3| 0.8 5 | 0.13]0.06| 2 | 0.5 | 3.9
A OV 59 1.20 11/0.0/1.2] O | 0 |0.0/0.0/ 0O | 0.000.00] 0 | 0.0 0.0
WA < b 5/ 4.80/ 1 /0.0/0.0] 0 | 0]0.0/00 2 |0.00]|0.00/ 1 | 0.0]0.0
el e os 39) 720 7 (01/00| 1 | 1/00/00| 3 |0.00000 1 | 0.2]0.1
V—2 33 4.80 6 [0.0/0.0] 3 | 1 /0.1/00| 0 |0.000.00 0 | 0.4 0.0
WobE 55, 3.60/ 14 0.0/ 0.0 O | 0 |0.0{0.0| O | 0.00]0.00] 0 | 0.0 0.0
"I 66/ 0.12/ 0 [0.0/0.0/ O | 0 /0.0/0.0/ 0 |0.000.00 0 | 0.1 |0.0
TAK 105/ 0.12 0 [0.0/0.0/ O | 0 [0.0[{00] 0O | 0.00 000 0 | 0.0 0.0
RTNFFH
[BESY/NAY 24.00/ 14 [0.4/0.0| 1 | 5 0.1/0.0] 0 |0.02|001| 7 | 0.0 2.1
I 6.00/ 1 [0.1/0.0/ 2 | 10.0/0.0] 2 |0.00 000/ 1 | 0.0 0.1
IZAC A 3.60/ 1 [0.0/0.0] 1 | 0]0.0/0.0] 26 | 0.00 000 0 | 0.0 0.1
R—La— 99| 240 2 (0.1/0.0/ O | 0 /0.0/0.0/ 0 | 0.00 000 0 | 0.0|0.1
"I 67/ 0.01 0 [0.0/0.0/ O | 0 /0.0/00| 0 |0.00|0.00 0 | 0.0]0.0
ZLx) 52/ 0.01, 0 [0.0/0.0/ O | 0 0.0/0.0| 0 |0.00|0.00 0 | 0.0]0.0
~ I — ARG SR 103 4.80/ 14/0.1)1.2) 1 | 1100[00 0 | 0.00]0.00] 0 | 0.1 |0.0
VI AR
LVAEIN 12.00| 14 [2.3/0.6] 1 | 3 0.1/0.2| 2 |0.010.02] 0 | 0.0 |0.0
FmERE 36.00/ 12 10.4[0.0( 6 | 3 |0.1/0.1| 0 | 0.0l 000 3 | 0.0 0.5
IZAC A 12.00| 4 |0.1/0.0/ 3 | 1 0.0/0.0| 8 | 0.01 | 0.01] 1 | 0.0 |0.3
FpY 24.00/ 5 [0.3/0.0] 10 | 3 |0.1/0.0] 1 |0.01|0.01| 10| 0.0 | 0.4
W7yl — 90| 12.00 4 [06/0.1| 6 | 3 /0.2/0.1| 9 |0.020.03] 17 | 0.0 | 0.6
E—Tau A 38 240 6 (02/0.1| 1 | 1/0.0/00| 0 |0.00] 000 0 | 0.9 0.0
IF<HBLEID 300 1.20/ 1 0.1/0.0] O | 1 /0.0[0.0] O |0.00]0.00] 0| 0.2 0.0
"I 66/ 0.12 0 [0.0/0.0/ O | 0 /0.0/00| 0 |0.00|0.00 0 | 0.1 |0.0
ZLxd 52/ 0.02/ 0 [0.0/0.0/ O | 0 /0.0/0.0| 0 |0.00|0.00 0 | 0.0]0.0
A eXE 59 0.24 2 (0.0/02| 0 | 0 /0.0/00] 0 |0.00|0.00 0 | 0.00.0
KEEROYBEIREED A&t |785|27.2/22.8| 515 [195|7.9| 3.3 | 216 | 0.74 | 0.49 | 45 | 2.7 | 8.6
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254 4A14A(H)  TULAX—RABRSYF(FHK) — il
— B TR RS B 2L A B
MR 4 TR FHL ey FX v YOO BA
Pl-EREDOHLLH
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
TR
=f 224.00/358/6.00.9| 4 [22]0.9/1.3| 0 | 0.45 004 0 | 0.0 | 0.4
44,
3, 206.00| 138| 6.8 | 7.8| 227 | 21 |1 0.0/ 0.8| 80 | 0.08 | 0.31| 2 | 0.2 | 0.0
ThHEY
LRI 80.00|152(13.3/11.4] 4 | 17 | 0.5 1.3| 32 | 0.08 | 0.12| 2 | 0.2 | 0.0
BALLIIN 42/ 0.60 0 [0.0/0.0/ O | 0 |0.0/0.0/ 0 |0.00 000 1 | 0.00.0
Lxo 28| 5400 4 10.4/0.0] 2 | 4]0.1/00] 0 |0.00]|0.01| 0 | 0.8]0.0
i} 64 120 1 (0.0/0.0{ O | 0 |0.0/0.0] 0 |0.00 000 0 | 0.0]0.0
A OV 59 1.20 11/0.0/1.2] O | 0 |0.0/0.0/ O | 0.000.00] 0 | 0.0 0.0
—IRpE 57 4.20/16 0.0/ 00| O | 0 |0.0{0.0] O | 0.00]0.00] 0 | 0.0 0.0
Lxo 28/ 288/ 2 10.2/0.0] 1 | 2]0.0/00/ 0 |0.00]|0.00 0 | 0.4 ]0.0
DA 65/ 0.96 2 [0.0/0.0/ O | 0 0.0/00| 0 |0.000.00 0 | 0.0]0.0
T 105/ 0.12 0 [0.0/0.0/ O | 0 [0.0[{00| 0O | 0.00 000 0 | 0.00.0
FEX YO OBFIZ
By 24.00/ 5 [0.3/0.0/ 10 | 3 ]0.1[0.0 1 | 0.01]0.01 10| 0.0 | 0.4
I 12.00/ 2 10.1/0.0] 3 | 2]0.0{00 3 |0.00]|0.00 2 | 0.0]0.1
NS 94/ 0.18 1 [0.1/0.0/ O | 0 |0.0/0.0/ 0 |0.000.00 0 | 0.00.0
MRS 88 1.80 1 [0.0/0.0/ 2 | 0/0.0/0.0| 0 |0.00 000 0 | 0.1 |0.1
Lxo 29 180/ 1 /0.1/0.0] 1 | 1]0.0/00/ 0 |0.00]|0.00 0 | 0.3]0.0
wokE 56, 0.36/ 1 [0.0/0.0] O | 0 0.0[0.0] 0 |0.00]0.00] 0| 0.0 0.0
Fl-Fh&EDHZH
Bri-FEh&E 24.00/ 8 [0.2/0.0| 4 | 2 ]0.1[0.0 0 | 0.01 000 2 | 00 |04
R EJE 9 30.00 22 |2.1|1.5 28 | 17]0.5[02| 0 | 0.03/0.01| 0 | 0.0 0.3
A A 12.00/ 4 10.1/0.0] 3 | 1]0.0/00 8 |0.01]0.01| 1 | 0.0]0.3
ERC RIS ba 10| 3.60 14|0.81.2) 11 | 5 [0.1]/0.1| 0 | 0.00]0.00| 0 | 0.0 |0.0
HERE 3.60, 1 [0.1/0.0/ 3 | 1]0.0[00| 4 | 0.00]0.00 1 | 0.0 /0.1
H 47| 10.80 20 |1.3/0.6| 16 | 14/0.7/0.2| 0 | 0.00 | 0.01| 0 | 1.2 | 0.7
FE7ZL 35/ 1.20 3 (0.2/0.0{ O | 1 /0.0/00/ 0O |0.00|0.00 0 | 0.3 0.0
INOFSY P 34/ 1.20 0 [0.0/0.0{ O | 0 /0.0/00| 0 |0.00|0.00 0 | 0.00.0
XEEROYMEIREED AFF | 767(32.1/24.6) 319 |113/3.0| 3.9 | 206 | 0.67 | 0.52 | 21 | 3.5 | 2.8
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




202546 4A15H (k)  TLAX— BRI ER(FEK) — ity
— B TR RS B 2L A B
MR 4 TR S=1h A= — LTI
TONAZEIDY T FIZ
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
TR
=f 224.00/358/6.00.9| 4 [22]0.9/1.3| 0 | 0.45 004 0 | 0.0 | 0.4
44,
3, 206.00| 138| 6.8 | 7.8| 227 | 21 |1 0.0/ 0.8| 80 | 0.08 | 0.31| 2 | 0.2 | 0.0
A=A —
BN 18.00/ 31 |3.7/1.8] 1 | 4 ]0.1/04| 1 |0.16]0.04| 0 | 0.0 |0.0
[BESY/NAY 48.00/ 28 [0.9/0.0/ 2 | 9 [0.2/0.1| 0 | 0.04 |0.01| 13| 0.0 | 4.3
e A 48.00 16 [ 0.5/0.0/ 8 | 4 [0.1/0.1| 0 | 0.02]0.00| 3 | 0.0 |0.7
IZAC A 24.000 8 [0.2/0.0/ 7 | 2 ]0.0[0.0 173 | 0.02 | 0.01| 1 | 0.0 | 0.7
HL— 48/ 10.80 51(0.7/3.7| 10 | 3 |0.4/0.1| 1 |0.01 0.0l 0 | 1.1 |0.7
HL—/L7a 49 6.00/ 28 (0.4/2.0] 5 | 210200 0 | 0.0l 000 0 | 06 0.4
Hv—K3 68 030/ 1 /0.0/00] 2 | 1/0.1[0.0] 0 |0.00 0.00 0 | 0.0|0.1
M Xy 39) 240 2 (0.0/0.0{ O | 0 /0.0/00| 1 |0.000.00 0 | 0.1 |0.0
e AN N 5/ 240/ 0 /0.0/0.0] 0 | 0]0.0{00 1 |0.00]|0.00/ 0 | 0.0]0.0
V—2 33 0.60 1 [0.0/0.0/ O | 00.0/00| 0 |0.00]0.00 0 | 0.1 |0.0
LR 37/ 0.60 2 [0.0/0.0{ 2 | 0 /0.0/00 0 |0.000.00 0 | 0.2 0.0
F ¥ % 51/ 0.96 2 [0.0/0.0/ O | 0 |0.0/0.0| 0 | 0.00 000 0 | 0.0/0.0
"I 66/ 0.24 0 (0.0/0.0/ O | 0 /0.0/00| 0 |0.00|0.00 0 | 0.2 0.0
ZLx) 52/  0.02/ 0 [0.0/0.0/ O | 0 /0.0/0.0/ 0 |0.00 000 0 | 0.0/0.0
A eXE 59 0.24 2 (0.0/02| 0 | 0 /0.0/00| 0 |0.00|0.00 0 | 0.00.0
UFAY
T HY 80 50.00105/6.4|4.5| 7 |11/0.3/0.6| 1 | 024005 1 | 0.5 0.6
A eXE 59| 5.50 49 (0.0/5.5/ 0 | 0 |0.0/0.0/ 0 | 0.000.00 0 | 0.00.0
IEONAEIDY Tz
MEIEIILAZED 6/ 18.00/ 4 |0.5/0.1] 18 | 9 |0.2/ 0.1 79 | 0.0l |0.02| 3 | 0.1 |0.6
IZAC A 12.00/ 4 10.1/0.0] 3 | 1]0.0/00 8 |0.01]0.01| 1 | 0.0]0.3
FAHATL—7 26| 6.00/ 16 |1.1/1.3] 0 | 2 ]0.0/00/ 0 |0.00]0.00 0 | 0.1 0.0
FERL v s 40/ 240 2 [(0.1/0.0/ O | 1 /0.0/0.0/ 0 |0.000.00 0 | 0.2 0.0
KEEROYMEIREED AFF |848(27.4/27.8) 296 | 92 | 2.5 3.5 | 423 | 1.05 | 0.50 | 24 | 3.4 | 8.8
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254F 4H16A (K)  TLAX—RHBRTR(PER) — il
— B TR RS B 2L A B
MR 4 TR L ~v—AR 5 BiF¥a—%
NP AR—
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
TR
=f 224.00/358/6.00.9| 4 [22]0.9/1.3| 0 | 0.45 004 0 | 0.0 | 0.4
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
v —AR—EE
STZOER 30.00 63 |5.3(5.2( 2 | 6 [0.3/08| 3 |02l 007 0 | 0.0 0.0
W~ —A—HEE 92| 90.00 66 |6.3|4.4| 84 | 51 |1.4[05| 0 | 0.08 004 0 | 0.0 |1.0
IZAC A 18.00 6 |0.1/0.0/ 5 | 2 0.0/0.0| 130 | 0.01 | 0.01| 1 | 0.0 | 0.5
IZ5 6.00/ 1 |0.1/0.0/ 3 | 1]0.0/0.0{ 17 | 0.00|0.01| 1 | 0.0 |0.2
FEhx 12.00| 4 |0.2/0.0/ 4 | 2 0.0/0.0] 1 |0.010.00 2 | 0.0 0.3
FLLW=F 12 036 1 0.1/00| 0 | 0]00[0.0/ 0 | 0.00]001| 0 | 0.0 |0.2
BALLION 42/ 0.24 0 (0.0/0.0/ O | 0 /0.0/0.0/ 0 |0.00 000 0 | 0.0|0.0
BALIZANZK 43/ 0.24 0 [0.0/0.0/ O | 0 /0.0/0.0] 0 |0.000.00 0 | 0.00.0
IR 45| 8.40/ 17|1.4{0.9| 13 |11/0.6]/0.2/ 0 | 0.000.01 0 | 0.9 |05
LEow 28/ 240/ 2 10.2/0.0] 1 | 2]0.0/00/ 0 |0.00]|0.00 0 | 0.3]0.0
—IRpE 57 3.60/ 14 0.0/ 0.0] O | 0 |0.0{0.0] O | 0.00]0.00] 0 | 0.0 0.0
ML 36, 1.20/ 0 |0.0/0.0] O | 0 |0.0[0.0] O |0.00]0.00] 0 | 0.0 0.0
N2 R 101 0.12) 0 |0.0/0.0| 0 | 0 [0.0/0.0] 0 | 0.00{0.00 0 | 0.0 0.0
TAK 105/ 2.40 8 [0.0/0.0/ 0 | 0 [0.0[/00| 0 | 0.00 000 0 | 0.0 0.0
A eXE 59 0.24 2 (0.0/02| 0 | 0 /0.0/00| 0 |0.00|0.00 0 | 0.00.0
BiF¥a—9%
Xg— 84| 36.00 87 [2.2/4.4| 12 | 9 |0.2/0.2| 2 |0.03/0.01| 5 | 0.3 0.8
A eXE 59| 4.10 36 (0.0/4.1| O | 0 |0.0/0.0/ 0 | 0.00|0.00] 0 | 0.0 0.0
NP A=
353 14| 3.00 10|0.0/0.0/ 1 | 0 [0.0[0.0] 0 | 0.00]000| 0 | 0.0 |0.0
I 12.00/ 2 [0.1/0.0/ 3 | 2 0.0/0.0] 3 |0.00]0.00] 2 | 0.0 |0.1
NS 71 840/ 10/1.6/0.3] 1 | 2 ]0.1/01| 0 |0.08]0.02| 4 | 0.2 0.0
R—jba— 99 840 7 (0.2/0.0/ O | 1 /0.0/0.1| 0 |0.00|0.00 0 | 0.0 0.3
LEH 29| 240/ 2 10.2/0.0] 1 | 2]0.0/00/ 0 |0.00]|0.00 0 | 0.3]0.0
okE 56, 1.80| 7 |0.0/0.0] O | 0 |0.0{0.0] O | 0.00]0.00] 0 | 0.0 0.0
BAHE 63 1.20/ 0 |0.0/0.0] O | 0 |0.0[0.0] O | 0.00]0.00] 0 | 0.0 0.0
ZE 62 024 2 (0.0/02] 0 | 0/0.0/00| 0 |0.00]0.00 0 | 0.0]0.0
XEEROMEIREERD A5t 1843|30.8/28.4| 361 [134|3.5]4.0| 236 | 0.95| 0.53 | 17 | 2.2 | 4.3
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254E 4A17H (K)  TULAX—HBRE(FER) i

— B TR A e S A R B

BRYLAL WA /R 43, FLLYDNAEN)=255F 7' oya) =Dy s iz
=)= BA—T

R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
DAZ RV
WA /S 113.00/340/ 9.2 52| 36 | 260.8[0.9| 1 | 0.14]0.09| 0 | 1.2 | 1.9
44,
3, 206.00| 138| 6.8 | 7.8| 227 | 21 |1 0.0/ 0.8| 80 | 0.08 | 0.31| 2 | 0.2 | 0.0
FAVIDNAEY)—RAD3T
N 78| 60.00/ 80 |5.6|4.7| 24 | 5 |0.8{ 0.6 64 | 0.04]0.20| 0 | 0.5 0.1
A OV 59 1.20 11/0.0/1.2] O | 0 |0.0/0.0/ 0O | 0.000.00] 0 | 0.0 0.0
I REF Iy 7 A 89 840 0 [0.0/0.0/ O | 0 /0.0/00| 0 |0.000.00 0 | 0.0]0.0
el e os 39) 720 7 (01/00| 1 | 1/00/00| 3 |0.00000 1 | 0.2]0.1
V—2 33 4.80 6 [0.0/0.0] 3 | 1 /0.1/00| 0 |0.000.00 0 | 0.4 0.0
WobE 55, 3.60/ 14 0.0/ 0.0 O | 0 |0.0{0.0| O | 0.00]0.00] 0 | 0.0 0.0
TAK 105/ 0.24 1 (0.0/00/ 0 | 0[0.0[00] 0 | 0.00/0.00 0 | 0.0]0.0
7' ay3)—-DN vy iz
W7yl — 90| 36.00 13[1.9/0.2| 18 | 10 0.5/ 0.3| 27 | 0.06 | 0.08 | 50 | 0.0 | 1.8
FERL s 40/ 3.60 3 [0.1/0.0/ O | 1 /0.0/0.0/ 0 |0.00 000 0 | 0.3 0.0
a—rIY)—LbRA—F
LVAEIA 30.00| 34 [5.7/1.5 2 | 7 (0205 5 | 0.04 006 1 | 0.1 ]0.0
e AT 36.00| 12 /0.4/0.0/ 6 | 3 [0.1/0.1| 0 | 0.01 000 3 | 0.0 0.5
AL A 12.00/ 4 10.1/0.0] 3 | 1]0.0/00 8 |0.01]0.00| 1 | 0.0]0.3
D) 18/ 0.05 0 |0.0/00| 1 | 0]00[0.0] 1 |0.00[000| 0 | 0.0 0.0
JY—hT— 98 18.00 15(0.3/0.1| O | 3 /0.1/0.1| 1 |0.00 0.0l 1 | 0.1 |0.3
a— =2k 91 12,00 12(04/02| 1 | 5 /01/0.1| 1 |0.01,001 1 | 0.0 04
KBy DRI AL 50| 9.60 46 [1.4/2.2| 26 | 4 |0.0/0.1| 3 | 0.01 005 0 | 0.3 0.1
R T LY 9.60| 6 |0.3/0.3| 3 | 2 (0.1/00| 0 | 0.0l 000 0 | 0.0]0.0
aL YR 37/ 1.20 3 (0.1/0.0{ 3 | 0 /0.0/00 0 |0.00]0.00 0 | 0.4 0.0
"I 66/ 0.24 0 (0.0/0.0/ O | 0 /0.0/00| 0 |0.00] 000 0 | 0.2]0.0
A AXE 59 0.24 2 (0.0/02] 0 | 0 /0.0/0.0| 0 |0.00|0.00 0 | 0.00.0
XEEROYBEIREED AFF | 747(32.4/23.6) 354 | 90 | 2.8 3.5 | 272 | 0.41 | 0.82 | 60 | 3.9 | 5.5
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254F 4H18H (&)

TUNAF—HBRLR(PER)

—Eh
— B TR SRS R I R R B

BRSZ4 IRER 3 HHRLLSROEOHBLD WAITADTEMZ
FEOFTELT
AR || T | RE vy v 8k [Hlign VE/oV (VA (VA (VA (BRI | A
' 4 s ¥ | B b |yon WHNE R B, [C MM | HhiE
gl kcal g gl Mg mgl mgl mg I mg mgl  mg g g
TRER
IRER 224.00(37216.9|1.1| 7 |31/07[1.6| 0 |0.29]0.02| 0 | 0.9 |1.6
44
A4 206.00(138/6.8|7.8| 227 | 21 /10.0/0.8| 80 | 0.08|0.31| 2 | 0.2 |0.0
AHALLLRNNSHDH RS
=LA UFTH & 82| 36.00/ 28{6.3/0.1| 12 | 9 |0.1/0.2| 3 | 0.04 004 0 | 0.1 |0.0
TIARRTH 86 36.00/82|1.0/3.8/ 1 |13/0.3/0.1| 0 | 0.04|0.02| 14 | 0.0 | 1.1
At Y11 59| 7.70/68|0.0/7.7) 0 | 0 [0.0/ 0.0/ O | 0.00 0.00 0 | 0.0 | 0.0
BALLION 42 0.24| 0 {0.0/0.0/ O | 0 [0.0/ 0.0/ 0 | 0.00 000 0 | 0.0 0.0
LrHw 28 480/ 4 {0.4/00 1 | 310100 0 |0.00 001 0 | 0.7 0.0
=R 57/ 3.60| 14{0.0/0.0/ 0 | 0 [0.0/ 0.0/ 0 | 0.00 0.00 0 | 0.0 | 0.0
] 64 060/ 1 {0.0/00/ O | 0]0.0/ 0.0 0 | 0.00 000 0 | 0.00.0
IV 65  1.20] 3 {0.0/0.0/ O | 0 0.0/ 0.0/ 0 | 0.00 000/ 0 | 0.0 0.0
Th 105/ 0.12 0 |0.0[0.0] O | 00.0/00 0O | 000000 0 | 0.0 0.0
WATADZTEmMZ
BRIV AT A 3/ 36.000 8 |0.6/0.0 17 | 8 0.3/ 0.1 18 | 0.020.04| 3 | 0.0 | 0.9
Lxowp 29 1.80 1 [0.1{0.0f 1 | 1]0.0/0.0[ 0 | 0.000.00] 0 | 0.3 0.0
i 56 1.20/ 5 /0.0/0.0{ 0 | 0 |0.0/0.0| 0O | 0.00]000| 0 | 0.0 |0.0
TVTF 16/ 0.72) 4 |0.1]0.4]| 9 | 3 /0.1/00| 0 | 0.00]0.00] 0 | 0.0 0.1
FeUNN:3 17, 0.72) 5 /0204 0 | 0 0.0/ 0.0 0 | 0.00/[0.00| 0 | 0.0 0.0
FEOTELH
BOEINEIZZ 73/ 960/ 9 |1.2/0.1] 2 | 1 /00[00| 0 |0.00]0.00/ 0 | 0.2]0.0
ERL =N 9 24.00| 18 |1.7[1.2] 22 | 14|0.4]0.1| 0 | 0.020.01| 0 | 0.0 |0.3
B 8 240/ 1]00[0.0/ 2 | 3/00/00 2 |0.00[0.00] 0 | 0.0]0.1
EEW 18.00/ 2 |0.1/0.0| 8 | 2 /0.1/0.0| 1 |0.01]0.01] 3 | 0.0 0.2
oz 20| 12.00] 3 {0.3]0.0/ 2 | 0 0.0/ 0.0/ 0 | 0.00 000/ 0 | 0.0 0.3
AL A 12.00/ 4 |0.1/0.0] 3 | 1]0.0/0.0 8 | 001001 1 |00 0.3
ZDETF 9.60/ 3 10.3/0.0] 0 | 1 ]0.1/01, 0 |0.02]0.02] 0 | 0.0 |0.4
g1 1% 6.00/ 1 /0.1/0.0] 2 | 1]0.0 0.0] 4 | 0.00|001| 0 | 0.0]0.2
FLLWZT 120 0.36/ 1 [0.1/0.0] 0 | 0 0.0/00| 0 |0.00]0.01] 0 | 0.0 0.2
DO BIEHIY 11 360 12/23[0.1] 2 | 30301, 0 | 0.01[0.02 0 | 0.0 0.0
LALEID 31/ 3.00/ 3 0.1/0.0/ O | 1]0.0 0.0/ 0 | 0.00 000 0 | 0.4 |0.0
Lxowp 28/ 3.00 2 {0.2/00/ 1 | 21]0.1/00 0 |0.00 001 0 | 0.4 0.0
=i 66/ 0.24] 0 {0.0/0.0/ O | 0]0.0/ 0.0/ 0 | 0.00 000 0 | 0.2 0.0
XEZROMFIIRERD AFF1792(28.9/22.7) 319|118/ 2.6| 3.1 | 194 | 0.54 | 0.54 | 23 | 3.4 | 5.7
BEZEKRLET, HEYERE | 830(30.0/27.3] 450 |120] 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




202548 4F21R ()  TLAX—ABRTE(FZR) il

— ' TR DA R L R EL

MR 4 TR L H< OO H T 72T OZD H1EE
LoD DFIEAE
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
TR
=f 224.00/358/6.00.9| 4 [22]0.9/1.3| 0 | 0.45 004 0 | 0.0 | 0.4
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
HLLODOBIDEHT
H< DN 83 46.00/ 75|2.8/42| 7 | 8 0.0[0.0] 1 |0.00 0.02, 0 | 0.5 0.1
A OV 59| 5.10 45(0.0/5.1| 0 | 0 |0.0/0.0/ 0 | 0.00|0.00] 0 | 0.0 0.0
D0 HEE
T Dz 20| 30.00 7 |0.8/0.1] 6 | 1]0.1/01] 0 |0.00]0.01| 0 | 0.0 0.7
i B G 95| 240/ 12(1.2/0.8] 15| 3 [ 0.2/0.1| 0 | 0.00|000| 0 | 0.0 0.1
ZANZRK 53/ 3.60, 0 [0.0/0.0/ 2 | 0 /0.0/0.0/ 0 |0.00 000 0 | 0.0]0.1
NS 94/ 0.60 2 [0.5/0.0{ 0 | 0 /0.0/0.0/ 0 |0.000.00 0 | 0.0]0.0
LEow 28/ 360 3 /0.3/0.0/ 1 | 2]0.1/00/ 0 |0.00]|0.01 0 | 05]0.0
WobE 55, 1.20/ 5 /0.0/0.0] O | 0 |0.0{0.0] O | 0.00]0.00] 0 | 0.0 0.0
DA 65/ 1.20 3 (0.0/0.0/ O | 0 |0.0/0.0/ 0 | 0.00 000/ 0 | 0.0 0.0
FE7ZL 35/ 0.24 1 (0.0/0.0/ O | 0/0.0/00| 0 |0.00|0.00 0 | 0.1 |0.0
B2 BDZIESLHE
EVOER 24.000 41 {4.2129| 2 | 6 0203 9 |0.02]004| 0 | 0.0 0.0
F TIPSV 72.00| 42 [ 1.3/0.1] 3 | 14]0.3/0.1| 0 | 0.06 | 0.02| 20| 0.0 | 6.4
Bri-FhE 48.00/ 16 [ 0.5/0.0| 8 | 4 |0.1/0.1| 0 | 0.02]0.00| 3 | 0.0 0.7
IZAC A 18.00/ 6 |0.1/0.0] 5 | 2]0.0/0.0] 130 | 0.01 | 0.01| 1 | 0.0 | 0.5
R ESLVAT A 3 960 210200 5 | 2]0.1/00 5 |001]0.01| 1 | 0.0 0.2
FE7ZL 35/ 0.60 2 [0.0/0.0/ O | 0 /0.0/00| 0 |0.000.00 0 | 0.1 |0.0
Tkt 57 1.80| 7 [0.0/0.0, O | 0 |0.0/0.0/ 0 | 0.00|000| 0 | 0.0]0.0
F0 A 65 1.20 3 [0.0/0.0/ O | 0 |0.0/0.0/ 0 |0.00 000 0 | 0.00.0
LEH@ 28/ 6.60/ 5 /0.5/0.0] 2 | 4]0.1/01] 0 |0.00]|0.01| 0 | 1.0 0.0
A AXE 59 0.24 2 (0.0/02] 0 | 0 /0.0/0.0| 0 |0.00|0.00 0 | 0.00.0
XEEROYBEIREED ARt |775|25.2/22.1) 287 [ 89 |2.1]2.9| 225 | 0.65 | 0.48 | 27 | 2.4 | 9.2
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




202548 4A22H (k)  TLAX— AR FE(FZRK) i

— B TP DA AG R LFIFH R

Mk TR H EEL D H EELNDEF3E
IO A—T
ek B A NV VY =t oy T R/ S 5 S i (R A I | AV AV N 1 N 3 i )
B’ W 4 iz - | BH VI 2 St e B, |C|FEM | Ak
glkecal| g| gl Mg mgl mgl meg Lg mgl mgl mg g g
=5 224.00/358/6.0/0.9| 4 |[22/09|13| 0 |0.45|004| 0 | 0.0 |0.4
4%,
L 206.00|138|6.8|7.8| 227 | 21|0.0{0.8| 80 | 0.080.31| 2 | 0.2 0.0
| =ZAT YN
SIZOER 50.00/105(8.9(8.6| 3 |[10]0.5/1.4| 5 | 0.35]0.11| 1 | 0.1 |0.0
WA A 24.00/ 8 |0.2/0.0| 7 | 2]0.0/0.0] 173 | 0.02 | 0.01 | 1 | 0.0 | 0.7
7tz daii 59| 0.40| 4 |0.0/0.4] O | 0 |0.0/0.0| O | 0.00]0.00/ 0 | 0.00.0
Lo 28/ 6.000 5 (05/0.0/ 2 | 4[01/01] 0 |0.00[00L]| 0] 09 ]0.0
A 63| 1.20/ 0 [0.0/0.0/ O | 0 [0.0/0.0] 0 | 0.00|000| 0 | 0.00.0
ok 55/ 1.80| 7 [0.0/0.0/ O | 0 [0.0/0.0] O | 0.00|000| 0 | 0.00.0
oy 66/ 0.12] 0 |0.0{0.0/ O | 0 |0.0[0.0| O | 0.00]0.00 0 | 0.1 |0.0
BALLIOMN 42| 0.36/ 0 [0.0/0.0/ 0 | 0 [0.0/0.0] O | 0.00|000| 0 | 0.00.0
BALIZAIZL 43| 0.24] 0 [0.0/0.0/ O | 0 [0.0/0.0] O | 0.00|0.00| 0 | 0.00.0
aF oy 102]  1.200 3 |0.1/0.1] 0 | 0]0.0/00| 0 |0.00|0.00| 0 | 0.1]0.0
TA 105 0.12) 0 |0.0/00] O | 0 [0.0{0.0] 0 |0.00]000[ 0 | 0.0]0.0
EEUADEE
WEHIEONAZD 6/ 12.00/ 3 |0.3/0.0] 12| 6 [0.1/0.1| 53 | 0.01 0.02| 2 | 0.0 |0.4
HoL 24.00) 4 [0.4]00| 2 | 2]0.0[0.1] 0 |0.01]001| 2 | 00|03
Lxowp 29| 240/ 2]02]0.0/ 1 | 2/00[00| 0O |0.00]0.00| 0 | 0.3 0.0
ohE 56| 1.20| 5 [0.0{0.0/ O | 0 |0.0[0.0| O | 0.00]0.00 0 | 0.00.0
ZE 62 060 5/0.0[0.6/ 0 | 000[00| O |0.00]0.00| 0| 0.0]0.0
LD R—F
N—z A 72 12.00/ 48 |1.5/4.7| 1 | 2 ]0.1]02] 1 | 0.060.02| 4 | 0.2 0.0
ERL A=A 9 30.00/22|2.1]1.5| 28 |17/0.5/0.2| 0 |0.03]/0.00| 0 | 0.0 0.3
B DNND 8 6.00/ 1 ]0.1/0.0] 6 | 7/00/00 5 |0.00]001| 1 | 0.1 [0.2
EEN 18.00 2 [0.1/0.0/ 8 | 2 [0.1/00| 1 |00l 001| 3 | 0.00.2
IZALA 12.00| 4 [0.1/0.0/ 3 | 1 ]0.0/0.0| 8 |00l |001| 1 | 0.0]0.3
A—a—r 99| 18.00/ 14 (0.4/0.1] O | 2 [0.1/0.1| 1 | 0.00 001| 0 | 0.1 |0.6
& 9.60 3 [0.1/0.0] 3 | 1]0.0/00| 1 | 000|000 1 | 0.0 |0.2
EIBA—T 44| 240/ 0 [0.0/0.0/ O | 0 [0.0/0.0] O | 0.00|0.00| 0 | 0.4 |0.0
HEEZL 36 1.20 0 |0.0{0.0] O | 0 [0.0[/0.0/ 0 | 0.000.00] 0 | 0.0 0.0
LxHwp 28/ 360 3 (03|00 1 | 2(01/0.0] 0 |0.00[001| 0| 0510.0
T 105/ 0.60/ 2 [0.0/00/ O | 0 |0.0/00| 0 | 0.00|0.00] 0 | 0.0 0.0
R 66/ 0.12 0 [0.0/0.0/ 0 | 0 [0.0/0.0] O | 0.00|000| 0 | 0.1 |0.0
ZLxD 52|  0.02] 0 [0.0/0.0/ 0 | 0[0.0/0.0] 0 | 0.00]000| 0 | 0.0 0.0
VAN oV 59| 0.24] 2 [0.0/0.2] 0 | 0 [0.0/0.0] O | 0.00|000| 0 | 0.00.0
XIFEROBM=FIRHRERD fat | 748]28.1/24.9) 308 |103] 2.5 4.3 | 406 | 1.04 | 0.59 | 18 | 3.1 | 3.6
BEXZEKRLET, JLHEA | 830 (30.0[27.3| 450 [120] 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254 4H23H (k)

TV —HBRLR(PER)

—E
— B ARG R AL FRR B

BRNLA TR 3L MRS OHLZNT OLEDOWDE
RO LA—T
MEE | v | A | IRE (Ve v |8k (g (VTov ey eRY (R (R | BT
' W4 ik ¥- |E h o |von EHEAME R B, |C 0 [HM | M
gl kcal g gl Mg mgl mgl mg Ug mg mgl mg g g
TR
FAR 224.00/358/6.0(0.9 4 [22[09|1.3| 0 | 0.45]0.04| 0 | 0.0 | 0.4
43
3 206.00| 138|6.8|7.8|227| 21 |0.0/0.8| 80 | 0.08 | 0.31| 2 | 0.2 |0.0
MRS OH B2 BT
TR 75/ 70.00/100|7.5[7.9| 168 |39 [1.8/0.8 0 | 0.05]0.02| 0 | 0.0 | 0.5
A o] 59 1.20/ 11|0.0[1.2] O | 0 [0.0[0.0 O | 0.00]0.00] 0 | 0.0 0.0
RIZ 45 5.04/10/09|05| 8 | 7 [03[0.1 0O | 0.00]0.00| 0 | 0.5 0.3
S 58 7.20/ 28 |0.0/0.0] O | 0 [0.0[0.0 O | 0.00]0.00/ 0 | 0.010.0
Yy 65 3.00/ 7 |0.0[0.0] O | 0 [0.0[0.0 O | 0.00]0.00] 0 | 0.0 0.0
Lxowp 28/ 1.20/ 1 |0.1]/0.0| O [ 1 ]0.0[0.0 O |0.00]0.00/ 0 | 02]0.0
TAK 105/ 0.24] 1 [0.0{0.0/ O | 0 {0.0{/0.0] 0 | 0.00 000 0 | 0.0 0.0
DLEDWE
(0N 13 240 4 |0.2/0.1| 24 | 15/1.4/0.0 9 | 0.00 | 0.01| 0 | 0.1 | 1.2
FATL—7 26| 12.00/ 32 |2.1|26| 0 | 3 (0.1[00 1 | 0.00]0.00/ 0 | 0.1 0.0
IZALA 12.00| 4 |0.1/0.0/ 3 | 1 0.0/0.0/ 8 | 0.01 |0.01| 1 | 0.0 0.3
F—a—r 99 960/ 7 |0.2[00| O [ 1[00[01 0O |0.00]0.00] 0 | 00]0.3
FE7ZL 35  0.36| 1 [0.0[00| O | 0[00[00 O |0.00]0.00f] 0 | 0.1]0.0
o 55| 1.20| 5 [0.0/0.0] O | 0 [0.0[0.0 0O | 0.00]0.00] 0 | 0.0 0.0
LIowp 28 1.80/ 1 |0.1]0.0| 1 | 1 /0.0{0.0 0 | 0.00[0.00f 0 | 0.3 |0.0
IV 65 0.60/ 1 [0.0[00| O | 0 [0.0[00 0 |0.00]0.00] 0 | 0.0 0.0
7273k 59/ 0.24| 2 |0.0/02| O | 0 [0.0[0.0 O | 0.00]0.00/ 0 | 0.0 0.0
KOARLA—T
LA YA 12.00| 14 2.3/0.6] 1 | 3 |0.1/0.2| 2 ]0.010.02| 0 | 0.0 |0.0
T 69 36.00| 51 |4.4[3.7| 17 | 4 [05[04 | 76 | 0.02]0.13| 0 | 0.1 |0.0
MEIFEZ 1| 18.00| 17]2.2/0.2| 5 | 3 {0.1{0.0| 0 | 0.00|000/ 0 | 0.5 0.0
IZALA 12.00/ 4 0.1/0.0/ 3 | 1 /0.0/0.0| 8 | 0.01 |0.01| 1 | 0.0 |0.3
ZDETF 12.00| 4 [0.3/0.0/ 0 | 2 |0.1/0.1| 0 |0.03]0.02| 0 | 0.0 0.5
gl Ho1E 3.60| 1 {0.0{0.0 1 | 1]0.0/0.0/ 2 | 000|000 0 | 0.0/0.1
FLLW T 12 0.36] 1 |0.1/0.0/ 0 | 0 [0.0/0.0 0 |0.00]0.01| 0 | 0.0]0.2
LALEOWD 31 2.40| 2 (0.110.0] 0 | 1 /0.0[/0.0f O | 0.00]0.00| 0 | 0.3]0.0
H7ZLow 32 3.00/ 3 |0.1]/00] O [ 1]00[00 0O |0.00]0.00] 0 | 0.4 |0.0
TAK 105| 036/ 1 |0.0(0.0/ O | 0{0.0/0.0, 0 | 0.000.00| 0 | 0.0 0.0
FE7ZL 35 1.20/ 3 |0.2(0.0] O [ 1 ]0.0[0.0 O |0.00]0.00/] 0 | 0.3]0.0
A 66/ 0.06) 0 |0.0/0.0] O | 0 |0.0/00| 0 |0.00[0.00f 0 | 0.1 |0.0
7p7-3adh 59| 0.24| 2 |0.0/02| O | 0 [0.0[0.0 O | 0.00]0.00/ 0 | 0.0 0.0
MIEEROBMFEIIHRERD it |814(33.8/25.9| 462 | 128]5.3| 3.8 | 342 | 0.66 | 0.59 | 4 | 3.2 | 4.1
BEEZEKRLFET, JLHE(E | 830(30.0(27.3| 450 | 120[4.5] 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254 44248 (K)

TUAE— BRI R (P ER)

it
B A R S A

BRNZA R K — LSy A FXF 7wk WHTEBY—F1x
S—hMR—/L DI E,
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
INEAD ARy — VR
Ky S VNEAD) 119.00 358|14.5{ 7.6 38 | 20 |1.1[1.8| 0 | 0.07 /1 0.10| 0 | 1.4 | 0.8
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
FXF AR
FX Tk 81| 36.00 64 [4.0/2.7| 2 | 3 /2201 4 |0.07 001 0 | 04 0.2
A OV 59| 4.10 36 (0.0/4.1| O | 0 |0.0/0.0/ 0O | 0.000.00] 0 | 0.0 0.0
WhHIZBI—Ffix
WHI Y — 93| 48.00/ 51 (0.0/0.0/ 4 | 0 /0.0/0.0/ 0 | 0.00 000 0 | 0.00.1
FHTaa 25/ 6.000 4 10.0/0.0] 0 | 0]0.0/00/ 0 |0.00]|0.00/ 0 | 0.0 0.0
HH Ty IET 24| 6.00/ 5 0.0/0.0] 0 | 0]0.0{00 0 |0.00]|0.00/ 0 | 0.0]0.1
NAVT 9T Wy Ty7 & T 23/ 12.000 9 |0.0(00| L | 1 ]00[00| O | 0.0l 0.00| 1 | 0.0/0.1
I—MR—L DI
IR — 87| 36.00 72 (3.7/4.5| 8 | 9 /0.3/0.3| 10 | 0.05|0.04| 0 | 0.4 | 0.5
e AT 48.00 16 [0.5/0.0| 8 | 4 [0.1/0.1| 0 | 0.02]0.00| 3 | 0.0 0.7
[BESY/NAY 36.00/ 21 [0.6/0.0/ 1 | 7 [0.1/0.1] 0 | 0.03]0.01| 10 | 0.0 | 3.2
IZAC A 18.00/ 6 |0.1/0.0] 5 | 2]0.0/0.0] 130 | 0.01 | 0.01| 1 | 0.0 | 0.5
W7yl — 90| 6.00 2 [0.3/0.0/ 3 | 2/0.1/00| 5 |0.01 001 8 | 0.00.3
KEKRE 19| 12.00/ 15|1.5/0.8] 12 | 7 |0.2/0.1| 0 | 0.00]0.00| 0 | 0.1 |0.8
WEHI v ¥ 7/ 6.00/ 2 0.2/00[ 0 | 1]0.0/00| 0 |0.01]0.01| 0 | 0.0 0.2
1R 21 960/ 2 |0.1/0.0] 1 | 1]0.0{00 5 |001]0.00 1 | 0.0]0.1
FwhE2—L 22|  6.00 3 /0.1/0.0] 1 | 2]0.0[{00 3 |001]0.00/ 1 | 0.0]0.1
My 39 480 5 (0.1/0.0| 1 | 1/0.0/00| 2 |0.00 000 0 | 0.1 0.1
aL YR 37/ 240 6 [0.1/0.0{ 6 | 0 0.0/00 0 |0.00 000 0 | 0.8 0.0
V—2 33 1.80 2 [0.0/0.0/ 1T | 0 |0.0/00 0 |0.00] 000 0 | 0.2]0.0
wobE 55, 0.60| 2 |0.0/0.0] O | 0 |0.0[0.0] O |0.00]0.00] 0| 0.0 0.0
BALIZAAZK 43/ 0.24 0 [0.0/0.0/ O | 0 /0.0/0.0/ 0 |0.00|0.00 0 | 0.00.0
"I 66/ 0.24 0 [0.0/0.0/ O | 0/0.0/00| 0 |0.00] 000 0 | 0.2]0.0
ZLxd 52 0.02/ 0 [0.0/0.0/ O | 0 /0.0/0.0/ 0 |0.00|0.00 0 | 0.00.0
A eXE 59 0.24 2 (0.0/02] 0 | 0 /0.0/00| 0 |0.000.00 0 | 0.0]0.0
KEEROYBEIREED A5t 182132.6/27.7| 319 | 81 |4.1]3.3| 239 | 0.38 | 0.50 | 27 | 3.8 | 7.8
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254 4250 (&)  TLAX—HBRTER(FEK) — ity
— B TR RS B 2L A B
MR 4 TR L SOOLOEKRIENNT  ZEOROISHZ
RIS HET
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
TR
=f 224.00/358/6.00.9| 4 [22]0.9/1.3| 0 | 0.45 004 0 | 0.0 | 0.4
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
SOOLOFEWRIZNHTF
=y ploy-Il-1 76, 70.00 124|14.1/6.8| 9 |22]0.6]/0.7, 8 | 0.06|025| 0 | 0.1 |0.0
A OV 59 1.20 11/0.0/1.2] O | 0 |0.0/0.0/ 0O | 0.000.00] 0 | 0.0 0.0
WokE 55, 2.40/ 9 |0.0/0.0] O | 0 |0.0[0.0] O | 0.00]0.00] 0 | 0.0 0.0
LEow 28/ 360 3 /0.3/0.0/ 1 | 2]0.1/00/ 0 |0.00]|0.01 0 | 05]0.0
DA 65/ 1.20 3 [0.0/0.0/ O | 0 |0.0/0.0] 0 |0.00 000 0 | 0.0 0.0
=3 62/ 0.60 5 (0.0/06| O | 0 /0.0/00| 0 |0.00|0.00 0 | 0.0]0.0
HIF 15| 060 4 |0.1/03| 7 | 2]01/0.0/ 0 | 0.00]000 0 | 00 0.1
TAK 105/ 0.60 2 [0.0/0.0/ O | 0[0.0[{00| 0 | 0.00 000 0 | 0.00.0
TEDRDEXHFIX
R Eo7 4/ 12.00 2 10.2/0.0] 18 | 2 |0.3/ 0.0 31 | 0.00|0.00 3 | 0.0 0.3
HL 18.00/ 3 10.3/0.0] 2 | 1]0.0/01] 0 |0.01]0.01| 1 | 0.0]0.2
SEHBTL—2 27| 6.00/ 14 |1.5/0.8] 0 | 2 0.0/0.0/ 2 |0.01]0.001 0 | 0.0]0.0
LEow 29 180/ 1 /0.1/0.0] 1 | 1]0.0/00/ 0 |0.00]|0.00 0 | 0.3]0.0
WobE 56, 0.60| 2 |0.0/0.0] O | 0 |0.0[0.0] O |0.00]0.00] 0 | 0.0 0.0
BIEEAHEN
DD 8/ 360 1/01/0.0] 4 | 41]0.0[{00 3 [000]|0.01| 1 | 0.1]0.1
R EJE 9 18.00 13|1.3/0.9 17 | 10]0.3[0.1| 0 | 0.020.01| 0 | 0.0 | 0.2
ERCRIEZ 1 bd 10| 3.60 14|0.81.2| 11 | 5 [0.1]/0.1| 0 | 0.00]0.00| 0 | 0.0 |0.0
WA 18.00/ 3 10.1/0.0] 4 | 2]0.0/00/ 0 |0.00]|0.00 2 | 0.0]0.3
IZAC A 12.00/ 4 10.1/0.0] 3 | 1]0.0/00 8 |0.01]0.01| 1 | 0.0]0.3
WHEHEIEENG, 104/ 12.000 6 |0.2/0.0| 1 | 2 ]0.1/00| 0 |0.01{0.00] 1 | 0.0]0.3
DT 9.60/ 3 10.3/0.0/ 0 | 1 0.1/01/ 0 |0.02]0.02| 0 | 0.0 /0.4
Ehx 9.60| 3 /0.1/0.0/ 3 | 1]0.0{00 1 |000]|0.00 1 | 0.0 0.2
AL 97 3.60 11[2.3/0.2| 79 | 8 |10.6/0.3| 0 | 0.000.00] 0 | 0.2 |0.0
VI AIE 46| 9.60 19 |1.2/0.6| 14 | 12/0.7/0.2| 0 | 0.00 | 0.01| 0 | 1.0 | 0.6
KEEROYBEIREED A&t 756(35.9/21.3| 405 [121]3.9]3.7| 211 | 0.67 | 0.69 | 12 | 2.4 | 3.4
BEEZEKRLET, JLHE( | 830 (30.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




202548 4F28R ()  TLAX—ABRE(HFER) il

— ' TR DA R L R EL

[TNYAZ 2R VIRV SN ) R Ry A LB ELIZALADE AT
ELogan
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
DPHTER
oY/ oXl =YY 231.00/363/6.2/109| 14 [25/09(1.4, 2 | 0.44]0.05| 0 | 1.6 | 0.9
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
AT haays
N7 hamyr 79 70.00 147/5.9|4.1| 17 | 22|1.7/0.6 1 | 0.07]0.03| 5 | 0.6 | 2.1
A OV 59 7.50 67(0.0/7.5/ 0 | 0 |0.0/0.0/ 0O |0.00 000 0 | 0.00.0
L7z LICACADEA TS
STAEIA 6.00/ 10 [1.2/0.6| 0 | 1 |0.0/0.1| 0 | 0.05]0.01| 0 | 0.0 |0.0
Lb7ex 54| 30.00/ 2 |0.1{0.0] 23 | 1 [0.2/0.0 0O | 0.000.00 0 | 0.0 |0.9
IZAC A 12.00| 4 |0.1/0.0/ 3 | 1 0.0/0.0| 8 | 0.01 | 0.01] 1 | 0.0 0.3
S 6.00/ 1 [0.1/0.0/ 1 | 10.0/0.0] 2 |0.00 0.00 5 | 0.0 0.1
IFHLIID 30/ 1.80 1 [0.1/0.0/ O | 1 /0.0/0.0/ 0 |0.00 000/ 0 | 0.3 0.0
WobE 55, 0.36/ 1 |0.0/0.0] O | 0 |0.0[0.0] O |0.00]0.00] 0| 0.0 0.0
i} 64 0.36/ 0 [0.0/0.0/ O | 0 /0.0/00| 0 |0.00 000 0 | 0.0]0.0
IV 65/ 0.36 1 [0.0/0.0/ O | 0 /0.0/00| 0 |0.00 000 0 | 0.0]0.0
H7ZLow 32/ 0.36/ 0 [0.0/0.0/ O | 0 /0.0/00| 0 |0.000.00 0 | 0.1 |0.0
FE7ZL 35 0.72/ 2 (0.2/0.0/ O | 0 /0.0/0.0/ O |0.000.00 0 | 0.2 0.0
A OV 59 0.24 2 (0.0/02] 0 | 0 /0.0/00| 0 |0.00 000 0 | 0.0]0.0
HE
L0AEIN 18.00/ 20 | 3.4/0.9| 1 | 4 [0.1/0.3| 3 ]0.02]0.03] 1 | 0.0 0.0
ERs AN 9 24.00 18|1.7|1.2| 22 | 14|0.4[0.1| 0 | 0.02/0.01| 0 | 0.0 |0.3
s 18.00 2 |0.1/0.0/ 8 | 2 0.1/0.0] 1 |0.01]0.01] 3 | 0.0 0.2
WA 18.00 3 |0.1/0.0/ 4 | 2 0.0/0.0/ 0 | 0.00]0.00] 2 | 0.0 0.3
IZAC A 18.00/ 6 |0.1/0.0/ 5 | 2 0.0/0.0| 130 | 0.01 | 0.01| 1 | 0.0 | 0.5
Ehx 9.60 3 |0.1/0.0/ 3 | 1]0.0/0.0] 1 |0.00]0.00 1 | 00]0.2
TAK) 105/ 084 3 0.0/0.0] 0 | 0]0.0/00| 0 |0.00[0.00 0 | 0.0]0.0
FE7ZL 35/ 240 7 (04/0.0[ O | 1 /0.0/00| 0 |0.00|0.00 0 | 0.6 0.0
LEH 28/ 360 3 /0.3/0.0/ 1 | 2]0.1/00/ 0 |0.00]|0.01 0 | 05]0.0
"I 66/ 0.24 0 (0.0/0.0/ O | 0/0.0/00| 0 |0.00] 000 0 | 0.2]0.0
A eXE 59 0.24 2 (0.0/02] O | 0 /0.0/0.0| 0 |0.00|0.00 0 | 0.0]0.0
XEEROYMEIREED A5t 1806|26.9/23.4| 329 [101|3.5]3.3| 306 | 0.71 | 0.48 | 21 | 4.3 | 5.8
BEEZEKRLET, JLHE( | 830 130.027.3] 450 | 120| 4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




20254 4H308 (k)

TUAE— BRI R (P ER)

—E

— ' TR DA R L R EL

BRAL4 HEED A S=1h LEOWT—A () B
GIFLIZWZ AO FIHERI X
R | v | 7oA |RRE (VY =70 |8k (s (VPov (BRSBTS (B (R | B
' W 4 . ¥ | BE oh |von EENE R B, |C MM | i
glkcall gl g Mg mg mg| mg ug mg mg| mg g g
HEED A
HiHED A 240.00/353/10.1) 1.4| 17 |19 /0.7/0.7, 0 | 0.10]0.02| 0 | 0.2 | 2.6
44,
3, 206.00|138|6.8|7.8| 22721 /0.0/ 0.8 80 | 0.08]0.31| 2 | 0.2 |0.0
LT —A )
BNl 18.00| 31 |3.7/1.8] 1 | 4 0.1/04| 1 | 0.160.04| 0 | 0.0 |0.0
5k 74 960/ 8 /0.7/0.0/ 1 | 1]0.0/00/ 0 |0.00]|0.00 0 | 0.2]0.0
IZAC A 12.00| 4 |0.1/0.0/ 3 | 1 0.0/0.0| 8 | 0.01 0.01] 1 | 0.0 0.3
HL 18.00 3 |0.3/0.0/ 2 | 1 0.0/0.1| 0 |0.01 001 1 | 0.0 0.2
FEhx 9.60 3 |0.1/0.0/ 3 | 1]0.0/0.0] 1 |0.00]0.00 1 | 00]0.2
R—La— 99| 12.000 9 [03/0.1] O | 2/0.0/0.1| 1 |0.00 001 0 | 0.1 |04
LOBRBLEDPT—A =T 1000 14.40/ 36 |2.0{2.6| 0 | 0 [0.0/0.0] 0 | 0.00{0.00 0 | 2.0 |0.0
LEow 28/ 120/ 1 /0.1/0.0] 0 | 1]0.0/00/ 0 |0.00]0.00/ 0 | 0.2]0.0
ML 36, 0.60/ 0 |0.0/0.0] O | 0 0.0[0.0[ O |0.00]0.00] 0| 0.0 0.0
"I 66/ 0.12/ 0 [0.0/0.0/ O | 0 /0.0/0.0| 0 |0.000.00 0 | 0.1 |0.0
ZLx) 52/  0.02/ 0 [0.0/0.0/ O | 0 /0.0/0.0/ 0 |0.000.00 0 | 0.0]0.0
A OV 59 0.24 2 (0.0/02| 0 | 0 /0.0/00| 0 |0.00 000 0 | 0.0]0.0
F&
B 85| 60.00/ 77 [3.1/2.9] 9 | 7 |0.2/0.4| 61 | 0.10|0.04| 0 | 0.3 |0.7
A eXE 59| 6.50 58 (0.0/6.5 0 | 0 |0.0/0.0/ 0 |0.00|0.00 0 | 0.00.0
FIFLEWZ A FEMZ
YFLEWZ A 96| 3.60 10(0.3/0.0| 18 | 6 |0.1/0.1| 0 | 0.0l 0.0l 1 | 0.0 0.8
FUE YA 12.00/ 1 [0.1/0.0] 12 | 2 /0.1/0.0| 20 | 0.00 | 0.01| 3 | 0.0 | 0.1
FAHATL—7 26/ 9.60/ 25 /1.7/2.1] 0 | 2]0.0/00/ 1 |0.00]0.00 0 | 0.1]0.0
LEH@ 29 180/ 1 /0.1/0.0] 1 | 1]0.0/00/ 0 |0.00]|0.00 0 | 0.3]0.0
BAHE 63 0.60/ 0 [0.0/00] O | 0 0.0[0.0] 0 |0.00]0.00] 0| 0.0 0.0
wobE 56, 0.60| 2 [0.0/0.0] O | 0 0.0[0.0] 0O |0.00]0.00] 0| 0.0 0.0
"I 67/ 0.01 0 [0.0/0.0[ O | 0 /0.0/00| 0 |0.00]0.00 0 | 0.0]0.0
ZE 62 0.36/ 3 (0.0/04| O | 0 /0.0/00| 0 |0.00|0.00 0 | 0.0]0.0
XEEROMEIREED A&t |765(29.5/25.8/ 294 | 69 | 1.2]2.6 | 251 | 0.47 | 0.46| 9 | 3.7 | 5.3
BEZEZEKRLET, JLHE( | 830 130.027.3] 450 | 120|4.5| 3.0 | 300 | 0.50 | 0.60 | 35 | 2.5 | 7.0




